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QUESTION 1

Which sequence of actions should you perform after replacing a memory DIMM?

A. From the loader prompt, start diagnostics mode.

B. From the special boot menu, select option 6, Update flash, from the backup configuration.
C. From the special boot menu, select option 4, Clean configuration, and initialize all disks.
D. From the loader prompt, boot the backup image.

Correct Answer: A

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1119134

QUESTION 2

You have two ONTAP 9.3 clusters, and you want to establish new SnapMirror relationships between them. Which two
statements are true in this scenario? (Choose two.)

A. The source and destination SVM names must match.

B. The language settings on the source and destination volumes must match.

C. The source cluster must be running a newer version of ONTAP than the destination cluster.
D. The destination volume must be the same size as or larger than the source volume.

Correct Answer: CD

QUESTION 3

You have a 4-node MetroCluster configuration. The systems are operating normally with no faults.

In this scenario, which statement describes the usage of NVRAM when a host sends a write to a node?
A. Incoming writes are written to the receiving node\\'s NVRAM and its DR partner\\'s NVRAM only.

B. Incoming writes are written to the receiving node\\'s NVRAM, its HA partner\\'s NVRAM, and its DR partner\\'s
NVRAM only.

C. Incoming writes are written to the receiving node\\'s NVRAM and its HA partner\\'s NVRAM only.
D. Incoming writes are written to the all four nodes\\' NVRAM.

Correct Answer: A

QUESTION 4
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A coworker notices an "Unsynchronized Log" message on an AFF A700 controller. You suspect that the problem might
be with the HA interconnect.

In this scenario, which two commands would you use to provide additional information? (Choose two.)

A. Use the event log show command.

B. Use the system cluster-switch show command.

C. Use the storage failover show command.

D. Use the storage adapter show command.

Correct Answer: AC

QUESTION 5

Click the Exhibit button.

clusterl::> gos statistics workload latency show -iterations 100 -rows 3
Workload ID Latency Network Cluster Data Disk Qo8 NVRAM Cloud
-total
110.35ms 110.02ms Oms 327.00us Oms Oms Oms Oms

vslvolO 111
167.82ma 167.22m= Oms 603.00us Oms Oms Oms Oms
voll 1234
117.76ms 117.56ma Oms 191.00us Oms Oms Oms Oms
vol2 999 44.24ms 44 .05ma Oma 190.00u=s Oma Oms Oms Oms
-total- -

38.89ms 3B.63ms Oma 256.00us Omsa Oms Oms Oms
val2 999 64.47ms 64.20ms Oms 266.00us Oms Oms Oms Oms
voll 1234 27.28ms 27.03ms Oms 253.00us Oma Oms Oms Oms
valvolO 111 23.72ms 23.47ma Oms 249.00us Oms Oms Oma Oms
-~total- v
409.81ms 409. 65ma Oms 169.00us Oms Oms Oms Oms
voll 1234
B16.92ma B816.80ms Oms 120.00ua Oms Oms Oma Oms
volZ 999
407 .HBma 407 .66ms Oms 219.00usa Oms Oms Oms Oma
valvolDd 111 3.6Bma 3.49ma Oms 193.00us Oms Oma Oms Oma

Your SAN customer is experiencing database latency, that is backed by an AFF A300 cluster. The LUNs are connected
using a 16Gb fabric.

Referring to the exhibit, which two steps would you take to determine the issue? (Choose two.)

A. Inspect the controller for CPU utilization.

B. Determine if there are issues on the hosts.

C. Investigate the switch for underruns or other problems.

D. Examine the controller for faults with the SSDs.

Correct Answer: AD
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